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RADICAL EQUATIONS: Worksheet 1

Simplify the following.

1) 20

5  3J3+5V3
7 6Ja-1l/a
9 67235

12) 620442

15) 8\/5(\/5 + 2)

18) <

J27

10)

13)

16)
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3) 75 4 40

6) 5/5-2J2-3/5+3/2

8) V3+27 +4/3-5J7

5.7 «3.2 1) 3.3
J5a e5a 1) 37 ++3)

J6(\3++2) 1) V1(V2 +411)




20)

e

Solve each radical equation.

22)

25)

28)

J2x =8

J3t-2=4

\V8a—-7+1=6

23)

26)

29)

6
21)
JY+3
V10w =4
V6X+3=3
Jow+16 -3=-1

24)

27)

30)

JX+3=5

No5t—-4+2=8

MX+1=1
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RADICAL EQUATIONS: Worksheet 1

Simplify the following.

1) 20 2) 27 3) 75 4 40
2.5 33 53 2,10
5  3J3+5/3 6)  5/5-242-3J/5+32
83 2.5 +4/2
7 6Ja-11/a 8) 3+2J7+/3-5J7
—5Ja 2.3-3J7
9 64235 10) 5J7e3V2 11)  3e4/3
1810 1514 3
12)  6v2e42 19 J5ae5/a 14) 37 ++3)
48 5a+/5 J21+3
15 8J5(5+2) 16 J6(\3++2) 1) J11(V2 +411)
40+16+/5 32 +243 V22 +11
2 8
18) ﬁ 19) g
2 3 23 8 V2 82
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Solve each radical equation.

22)  J2x=8

X =64
X=32

%) Jx-2-4
g&—zf:42

t—2=16
3t=18
t=6

28) \8a-7+1=6

JB8a—-7=5

2
gma_7):52
a-7=25
8a =32
a=4

Jsath.net

6
21)
Jy+3
6 Jy+3 6,y+3
[ ] =
JY+3 Jy+3 y+3
23) 10w =4 24) X+3=5
(\/low)2 =42 (\/x+3 F - 52
10w =16 X+3=25
w=1.6 X =22
26)  /6x+3=3 27)  \J5t—4+2=8
ng+3f=32 \5t—4 =6
X+3=9 gﬁt2f=62
6X =6 t—4 =236
Xx=1 5t =40
=8

29)  Jew+16-3=-1 30) Ix+1=1

VOW+16 =2 (\/—)2 )
ng+16f=22 wxrl) =1
W+16 = 4 =0

6w =-12



